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QUESTION NO: 1

IBM Cloud offers which two container orchestration platforms as managed services? (Choose two.)

A. Apache Mesos

B. Red Hat OpenShift

C. Tanzu

D. Kubernetes

E. Docker Swarm

ANSWER: D E 

QUESTION NO: 2

What is a resource group in IBM Cloud?

A. A set of provisioned services labeled with the same tag

B. A group of resources that can be created on demand using a Terraform script

C. Application resources that have been placed in the same zone

D. A way to organize a set of account resources so users’ access can be quickly assigned

ANSWER: D 

QUESTION NO: 3

What are the two types of network access controls that comprise the layers of Virtual Private Cloud (VPC) security? (Choose 
two.)

A. User Control List

B. Access Control Routes

C. Security Groups

D. Access Control List

E. IAM Groups

ANSWER: C D 
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QUESTION NO: 4

What are two supported provisioning tiers for Block Storage - Classic on IBM Cloud? (Choose two.)

A. Autoscale

B. High Volume

C. Endurance

D. Secure

E. Performance

ANSWER: C D 

QUESTION NO: 5

How can a client leverage IBM Cloud to deploy a dedicated environment that is not shared with any other client and keep 
control of the virtualization layer?

A. Deploy dedicated instances

B. Deploy dedicated virtual servers

C. Deploy bare metal servers

D. Deploy virtual hosts

ANSWER: C 

QUESTION NO: 6

Which two are components of Cloud infrastructure that can be included in an IaaS computing service model? (Choose two.)

A. Containers

B. Software

C. Storage

D. Network

E. API

ANSWER: C D 

QUESTION NO: 7
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Which two encryption modes can be used on Virtual Server for Virtual Private Cloud (VPC)? (Choose two.)

A. Customer Managed

B. Provider Managed

C. IBM Cloud Pak for Security

D. Bring your Own Key (BYOK)

E. Third party managed

ANSWER: D E 

QUESTION NO: 8

With the IBM Cloud Juniper vSRX appliance, which secure VPN protocol is used to connect and encrypt traffic from an on-
site data center to IBM Cloud?

A. Internet Protocol Security (IPsec)

B. Transport Layer Security (SSL/TLS)

C. WireGuard

D. Datagram Transport Layer Security (DTLS)

ANSWER: A 

QUESTION NO: 9

Which problem does a multicloud strategy help alleviate?

A. Platform management

B. Platform visibility

C. Vendor lock-in

D. Scalability

ANSWER: C 

QUESTION NO: 10

What is a characteristic of a SQL database?

A. Eventual consistency
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B. Unstructured data

C. ACID transactions

D. Fast access to key-value data

ANSWER: C 
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